
Total liveload = 754.6 ton = 1663606.2 lb = 1664 kip
Steel Frame = 140 kip

This is what the foundation looks like



This is what the previous structure engineer designed for the warehouse, but my boss’ elder
(70+yrs) friend thinks it won’t work.

Based on what I learned in school, this is the structural slab that spread load to surrounding
grade beams and then to structural columns.

My boss just want a simpler calculation to see if this foundation system can hold the provided
loading (adding +10% overload).






